BUTE Admlssion Test 2015-2016

01. «3f fafoe «drees 400nm weet tACda AR P47 ¢ 60 A A1 TR 600 nm SFA CATHT ST AT 7777

CFLE TG TR 6 7
(a) 40 (b) 90 (c) 60 (d) 50
TR (a);n oo - — iﬂ = n, = “;:1 = S0X400 _ 40
02. ZDWWWﬂWﬁﬁ%ﬁmwﬁlmwwmﬁ%ﬁ%w x 10°]1 Fifererg
TGS T B9 21— |
(a) 2 x 10° N/m? (b) 3 x 10° N/m? (c) 4 x 106 N/m? (d) 5 x 106 N/m?

5
A (d); PV =ZE= P = = = 22590 N2 = 5 x 106Nm ™
3V 3x20x10~3

03. 3 7RI ©r=e feed ©7 ¢ 3 o OIE [T @H 2T AT ST TF 2027 OF 1 kg BEH 98 O (7
(@) 1L.1N (b) 22N (c) 44N (d) None of these

._’. _ M'RZ _ 2M(R?%) _ por 2 _o ’_ e 4 r —
E: (b); £ = = Tl =2 g = (9.8x2)ms™2 = 22ms™? + W =mg' = (1 x 22)N = 2.2N

04. Frda®R MHWWWWW? [Ans: b]
(a) 1.2 M, (b) 1.4 M, () 3 M, (d) 3.4 M,
05. %ﬁtﬂb—rﬁrm G0 U GG *Ife =

(a) 0.173 myc? (b) 2 myc? () Zmgc? (d) 1.732 m,c?
STSYIS: (No correct answer); (NG *f& = ym,c?, @A y = 1,,,: L2 - = \E .. OB e = \Emncz
I-EI 1=
06. F@olN ARTSEA CFea @I THF0 57?7 [Ans: c,d]
- Y = 1-y
(a) PT V. (b) TPY-1 (c) PT2-v (d) TP

07. T TIA “iifTe (Tod (AE SOl T T fedl (@it (AE?
(a) SIS ST 41° (b) SR ATATT 49° (c) SLRICE ACATF 0° (d) SRR FTATT 45°

0 = sin”* () = sin”? (2) = 48.59° - ST AT IVt = 90° — 48.59° = 41.41° =~ 41°

08. Q[ TLITH #1fe @ @ SITed @UIR ¢Fid fFee IRib 7er?
(a) Vg > Vy (b) Vr < Vy (C) VR =Vy (d) Vg =
SIYI: (2): FA1eT SR ST G 0T (o7

09. Col 9% Bo[ F 9T &ral FH0eT @6 I V @l s oot 2 SRt Frel-

(a) Fv (b) F/v (c) Fv/2 (d) v/F
AAIYH: (a); P=%=-‘?=Fu
Tl CEEEENEEEES




8

10. T SFN@N wﬁmm%@wmwmmﬂwwwmqm TG SlPial 57

(a) 2T (b) 4T (©) 3 (d) ¢
T (b); -—-=r:unst “r FFTIﬂ!?:=22fv=hT'=4T

11. f‘smﬁ‘rtﬁmﬁwvrmaﬁ? [Ans: a]
(8) A =2 () A =1 (A== (@A=2

12. AﬂsmwamwaﬁsmsﬁﬁﬁmmlAﬂa@wﬁ?mmﬂwaﬁ?
fg = 440 Hz.
(a) 440 Hz (b) 435 Hz (c) 445 Hz (d) 450 Hz

TN (b); A 97 S5 I K6 FOH1 oM, f < fg ~ fg — f4 = 5 = f = (440 — 5)Hz = 435Hz
13. SIS SFWIA 8 BIT SIfHTE 8 RIS OF T @ I ST $©7
(a)1:4 (b) 4: 1 (c)1:2 (d)2:1
e (@) s = e 2=
14.  a3f ofer A g ol I THID (@ (97 FA0S A | e (@01 s 2 Tl T SGIF (BF FACO
AAR?
(a) 8 (b) 6 (c) 2 (d) 4
FMYE: (d); @ Rt T SfoxifE vaed 01 w4y, 4 & ST (57 FA00 AT |
15. I *I=9 Siger e 2Rt fRes & «kfee Sger -3
2

(a) I = 1001} (b) I, =2 €)1z = @1 =3

AAHIA: (b); B, = 10log (:—:) dB,B; = 10log G—:—)dE

B, =2|31=:lug(:—z)=21=:tg(:—:)==-:—z= (:—;)2=>12=i
16. o SNAY (939 @ 9F e e omme @fdd I Qe 99is (S3Ea Nitd T | (SHIacis VLSl
@ $97?
(a) 45° (b) 90° (c) 120° (d) 150°
F4: (C); p? = p? + p? + 2.p.p.cos6 = cosB = —%::- 0 = 120°
17. G0 ATRICAT 200 kg SR G0 Q@MITE 0.1 ms™! (@t B T @FET el 97
(a) 19.6 W (b) 98 W (c) 196 W (d) 200 W
AAYE: (¢); W =Fv=mg X v= (200 X 9.8 X 0.1)W = 196W
18. K Peik &3 5= uft Feiqs e & a0 B ek §49 droran ek aF fFer awaa Jieirs oo 3[?

(a) K (b) 2K (c) 5 (d) K?

A (b); Kg gx; AT M, Keg = TK - o0 Felfqs = K+ K = 2K
I

19. 5 kg S @9 T F© 97 QUM TACeT I8 IR g9t 4 m/s? =12
(a) 96 N downwards (b) 96 N upwards (c) 29 N upwards (d) 29 N downwards

|

TAYH. (c); 1_ mg—F=ma=5X98-F=5X4=F = 29N, upwards

I |

T

-




21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

(a) 4200 ] (b) 2100 ] (c) 210]
AT (b); Q = mSA8 = (1 X 2100 x 1)) = 2100]

551 TS P: Q = 1: 2 frw Reqa g T3-

(@) 16.66 cm (b) 33.33 cm (c) 50.00 cm

STIR: (b); > R g = () x 100cm = 33.33cm

(d) 336000 ]

(d) 66.66 cm

BUTEX s 1 & | ST

20. 1 kg Ta0FT SiF@ 1 K SIS ARG ©fF $© FJ?

a0 TR GiET ©fYe TR FIE 440V — 60A e T3 9tz | TF 71z @ 4%t 1.2 m Fes @R e otgs

(AT TH 97

(@) 1073 T (b) 10~* T (c)1075T
T (0); B = 52, = 5 T = 10°°T

1 Tesla Ft69 @ MvT Targey ?

(@) 1AN" T m™? (b) 1 AmN™? (c) 1 NA™Im™

JATH: (c); F =1IB == E; 92 AP O B 99 9FF NA'm™?

Afofb FTRGCT ST

@p=7 b P =" )P ="

2 D qF O35 TS (75 8 3.5 D OF ST EHE AR O Fol $© FA?
(a) 5.5 D (b) 1.5 D (c) =1.5D

T (C); Pog = (2 —3.5)D = —1.5D

G0 Tl Fifereig ©a 200 g @92 FFE 10 om (A oo SINF FO°7

(a) 2 X 1072 kgm (b) 2 x 10~2 kgm? (c) 2 x 10~* kgm?
Jqt4iA: (b); [ = MR? = 0.2 X (0.1)%kgm? = 2 x 10~ 3kgm?

n 5129 S9-Af7137 ¢Fa e @it 7or?

(a) ny = ne (b) ny, > n, (C) np < ng

(d)107°T

(d) 1 Nwbm™

h
2

(d) P =

(d) =5.5D

(d) 2 x 107* kgm

(d) ny = n,

[Ans: c]

[Ans: c]

PTG 98 x = 3 cos(40t) TP I Bf e ifere Fots, @A x 99«4 {og 932 t 97 2R onzrs |

AE® @Y ms™! Q F67
(a) 80 (b) 120 (c) —120 cos(40t)
ANYH: (b); w = 40rads™; V. = WA = (40 X 3)ms~! = 120ms—?

(d) 3 cos(40)

400 ~lIFd @I SN 4 SR Sfs e7taa T 0.02 SEAR ©fs TiF Teom 27| ~F<ST T35 S ¢7E

97?7
(a) 0.5 Henry (b) 1.0 Henry (c) 2.0 Henry

TAI: (0); Li = Nopg = L = =12 = =222 Henry = 2 Henry

SITAF T 1mm 93 SCAFFEE @Y 48 x 10780-m 1 ;W ©It= 7 faww 231 ©r3 Seifes oy za—

(a) 48 x 107% Q-m (b) 24 x 107 Q-m (c) 12 X 1078 O-m
AIY: (a); SMifre @iy Sitag GieE o fog s =i

(d) 4.0 Henry

(d) 6% 1078 Q-m

ECE, | o [



31.

32.

33.

34.

39.

36.

37.

38.

39.

40.

JET |

ftea Al 36 AffFRe 9 I9ge |?

(a) f&e1at NH; (b) Ff3% NH, (C) NH, #71% (d) NH,Cl
fAtsa @A I T 10, 2° 8@ 3° NN Woyg o1y 9 qE?

(a) HNO; (b) Zn 8 HCI (c) HNO, (d) CHCl;
50 cm? 0.15M B9TE U3 SRTNIER B FRRe TS $6 cm? AW Q1% 408 TA?

(a) 75 (b) 50 (c) 25 (d) 10

REICIEP (C); Vinitial = 50cm? 5 Sinitia1 = 0.15m
Veinal =7 Sfinal = 0.1m

* Vinitial Sinitial = Vfinal Sfinal = Viinal = 5“:'11'15 = 75cm3 .. Added water = (75 — 50)cm?® = 25cm’
o TRt T @S X e
(a) F; (b) N, (c)H—F (d) He,

1L

'__r"- IE'U;“.,‘
AN (d); ge AL~ “nAL g
Is ™+, > 18
Iso

(@t bonding W32 antibonding SARGITE FUF FATF CAIGA <V,

no. of bonding electrons—no.of antibonding electrons _ 2-2

CIRY TG = - =—=0
Al(OH),; 99 GITS! x (e TGO GF F97
(a) x* (b) 27x3 (c) 27x* (d) 27x?
TAYIE: (C);
Al(OH); = AP* + 30H”
& B X X 3x
- QIAret @4rF, K, = [APY][OH7]° = x. (3x)® = 27x*
35116 Be@ + RCHO - X’ ; X (@19 430 @517
(a) t=1 Wie (b) 3° alcohol (c) 1° alcohol (d) 2° alcohol
OMgX OH
SAIYI: (d); CH3MX + RCHO — R — t;“, _n-R- {:: — H + Mg(OH)X
fareree R CH CH,
fros 2R 7T 28feTs AT H,S0, «F 2fAts @M ORe a%E $a0e Sigeed Ao 2149 #Ia?
(a) S5 HCI (b) 51 H3PO, (c) #Ie HNO, (d) HNO,
TEFA TSI HeA (IR NITHT S0 §¥ (PRGN A (i5 W f+oq wea?
(a) 21 (b) 21 + 1 (c) 21—-1 (d)21—-2
ftea @G AeE?
(a) Vo P [at constantm] (b) C = (RT/3M)% (c) Ve TlatconstantP] (d) R = E
e cRoPTIEs 04T (I SIRITEIFEI e1aet SAAR Faro Aa?
(a) C;Hg — NH; (b) CcHsNO, (c) CgHs — NH, (d) (CH3)sN

[ﬁns: a]

[Ans: c]

[Ans: b]

[Ans: b]

[Ans: c]

gl (C); (@Eeia SIS SO 5°C U9 FF SINQE SIS A G99 615 e A @ o
ST YT HFS 2| TS ST &5 G GUEE= 789 | O S SRS =_e Ha7

EIGEIE

e B,



BUTEX o3ee

41.

42.

a4.

45.

46.

47.

49.
50.

51.

52.

53.

L R,

1@ ¢

T TR FCER WKT (PIDR T FICAEN ?

(a) Na,0 (b) Al,0, (c) Si0, (d) FeO
1000 mL 0.1M Na,C0, 539 &8 o T© AN Na,C0; TS ?

(a) 106g (b) 10.6g (c) 53g (d) 5.3g

Y (b); S = 0.1m; V=1000mL = 1L

r "NaICUa =VS =0.1mol mﬂazm: = “Nazﬂﬂg X mNazma =0.1x106 = 10.53

[Ans: c]

28 ST NIRRT @92 1428 GIRA AR FRea @5 519 12 atm o & Rr FRE TS ANCE S 519 Fo?

(a) 8 atm (b) 4 atm (c) 6 atm (d) 2 atm

FA: (b); ny, == B —mol = 1mol; ngj, = %mnl = 2mol ; Py = 12 atm

Py, = “H:f;mz total = T X 12 atm = 4atm

SFg SIS S O (I GAEIT AT qOTR? [Ans: b]
(@) sp*d® (b) sp*d’ (c) d*sp® (d) sp°

0.015 M CaCl, %99 9=¥@l ppm AFCE F67?

(a) 1665 (b) 1600 (c) 1650 (d) 1690

AqY: (a); S = 0.015M

~ 1L @ CaCl, St% 0.015 mol 91, (0.015 x 111)g 91, (0.015 x 111 x 1000)mg 91, 1665 mg

~ 0.015m CaCl, = 1665 mgL™ CaCl, . ppm &3S 1665 ppm CaCl,

fAt6a MG ARG "BIGIG #q1d? [Aps: d]
(a) 4,50, (b) NaOH (c) CaCO; (d) K,Cr,0,

P Rl SRR T a @HiE Seo 237 [Ans: c]
(a) Benzene (b) Benzoic (c) Toluene - (d) Benzylalcohol

I @GRS #ifR 8 e S semm wit Ree 5@ =0 @7 [Ans: d]
(a) GC (b) HPLC (c) GPLC (d) TLC

FFEH WATF ALF© CeH;,04 A6 67 [Ans: b]
(a) Aldehyde (b) Carbohydrate (C) Acid (d) Estar

o1 AT @A I TR T (ST ZAR?

(a) s-block (b) p-block (c) d-block (d) f-block [Ans: b]
1.5% NaOH %319 pH $97

(a) 13.57 (b) 14.18 (c) 12.62 (d) 13.21

AAYE: (a); 1.5% NaOH T3l &, |

100 mL &9t NaOH 9lltz 1.5 g -~ 1000 mL ®<T9 NaOH ©It& 15 g q1, Enml <1, 0.375 mol

~ pH = 14 + log[OH™] = 14 + 10g(0.375) = 13.57

Br,/KOH; @ RfF1s & armafae [Rieam e sar=? [Ans: c]

(a) Wurtz reaction
(c) Hoffmann degradation reaction

faa Wit Somifaem meE?
(a) C,H0 (b) C,H,0
ANIYE: (d); C3H O
ﬁ OH
|
CHSﬁTg‘ﬁ?ﬁ% CH; = H,C = Wcm — CH;

(b) Willson reaction
(d) Friedel Craft reaction

(C) C4Hg (d) C3HgO




curex e _ G WS

54. fAea @NG AT *ifEiE aFe?

(a) HCIO, (b) HCI (c) HCIO, (d) HCIO;
ANYE: (a); HCI0, 9 Cl O SR I A% +7 | A AFWI9d S ¥4 @& a1 aibTe Sy *(fe=nsr =7
55. At @G RBITeRe o ? [Ans: ]
(a) Lithium ion battery  (b) Lithium battery (C) &F (F¥ (d) T &
56. 7 @¥ RIFTR Q@ $0F9 9FF @FAG?
(a) time™ (b) L.mol™. time™* (c) mol.L.time™? (d) mol. L1, time™*

SYE: (d); 0 &Y RIEFTE ST @ r =k -~ @ 99 k 98 9FS mol L™ time™
57. 2 — RCORET SR et T1g-
(a) Formic acid (b) Propanoic acid (c) Acetic acid (d) Butanoic acid
79\ _
FIYHA: (¢), CHy3 —C = C— CH; + 03 = CH; — $-—t|:-cr13 —— 2CH; — COOH
0 -

Hz0  ethanolic acid
0 (acetic acid)

58. 298K SINIAT “HfFe AT eTT T I T97
(a) 10712 (b) 10715 (c) 10714 (d) 1077
FAHEA: (c); Kw = [HT][OH7]
At298K,pH=pOH =7 = [H*] =[0H"] =107 ~ Ky =107 x 1077 =107

59. HCIO, 9 Cl a9 SIFS A 972
(a) +8 (b) +7 (c) +9 (d) +2
T (b); Hcio, AIX(HFD+1Xxx+4x(-2)=0=2x—-7=0 ~x=+7

60. C4HsCHO SYTS a-TIICGITH @7 R FI0?

(a) 5 (b) 2 (c) 0 (d) 1
CHO
i
=
CH
SHIA: (C); CaHsCHO —» 1§ I
HC CII
“'*-“-ECHJ
o F4 H 72

61. v eyt 2015 @ &l e 201 (@i ?
(a) 11111011110 (b) 01111011111 (c) 11110111110 (d) 01111101111

JqI419: (No answer);

2]2015
2|1007-1
2|503-1
2[(251-1
2]125-1
2(62-1
2131-0
2]15-1
2]7-1
2]|3-1
2| 1-1
0-1

(2015)30 = (11111011111),




62.

63.

64.

65.

66.

67.

P(ANB) == F(A UB) == mﬂm P(A) = -w P(B“) =7

@3 (b) ; (©); (d)z
1 1 2
AN (b); P(A U B) = P(A) +P(B) P(AUB) = P(B) P(AUB) +P(ANB) —P(A) = -;i s—c=3
“P(BY)=1-P(B)=1-2=3
(%—%)g a7 RIRorS ax o I ? .
(a) °c, x % (b) — °c, X 13—";5- (c) — "cg X -’:—f (d) “cq Xa
TAE: (d); 7 o = °Cq ‘“‘)3 (-£ "= 9, 228
5 2x x3
4% T8 T 3ms~1, 7ms~" @72 Bms~1 @ A T AT T | JG9 @ FoeH (@ 5267 TEgE
IGREEE]
(a) 90° (b) 180° (c) 160° (d) 120°

3
AAYIR: (d); \\B - > 7

ARG @y g R FE, quw a9 fage stod e

3248°-7° 1

cosa = ——— S a= 60° .08 =180°—-a = 180*"I— 60° = 120°

[ Ixldx =2

(a) 2 (b) -1 (c) 1 (d) o
. Y4
>

TNIY: (C); %/

N

-1,1) (1,1
f.l |HIﬂH—WWWC‘W{W=—x1x1+1x1x1 = 1 G439

B |

ﬁ?PT*"f_f |:-:|dx——f x.dx + [ x.dx——[ﬁ]+[—] =-+—_1Tq“€ftﬂw

3
T y = x2Inx T, BWR S 97 T F©?

(@) —

(b) > (c) —= (d) 2

dz 9
W:(d);y=lenx,a—2x Inx + x* i—2x Inx+ x; e —Zx +21nx+1—-3+21nx,—""=;
ABCDEF 30 5§ §99& | AB + AC + AD + AE + AF =?

(a) 3AD

AqYE: (2); B

dx3

(b) 2AD (c) >AD (d) None

0o \F

u]"nf' E

120

[AB + AF| = 2AB cos (2X) = AB; |AC + AE| = 2ACcos (%) = V3AC

AB _ AC _ 1
AABC ¢, aﬂu_smuﬂn:-ﬂﬂ—ﬁﬂc
AD _ﬁ
ST, AACD @, —2is = == = AC = T°AD
1 43 V3 —_—
AB+AC+AD+AE+AF-(AB+WAC+AD _(F 2 +43.241)AD=3AD

o R,

B e



BUTEX SIS § % i

68. TM xPy? = (x +y)P™I W SITH %ﬁ =7

@3 (0)5 () & (d) %

STA: (b); xXPy9 = (x +y)PH0 = pxPly" 4 qy-1 L xP = (x + y)P*L (p + ). (1 + )

xPyq nyF

d
=p. - +q = (p+q)

+ ﬂl‘ + — —
ﬁ(ﬂ_i‘;) Y =P _P_, ox7V ¥ ax-py ,dy _ Yy
}F x L]

(x+y)P+a (x+y)P*9 dy p , q dy _ p+q , p+q dy
X+y + (P + Q) x+y  dx = X + y dx - x+y + x+y  dx

X

dx x4y x  y(x+y) dx x(x+y)  dx  x
. 1= 7X
69. lim —— O3 TN TS?

x—~0  3x¢

6 49 7 2
(@ 5 (b) = () 2 (d) 2
FTAIR: (b); Using L'Hospital rule, lim ’-';:"“ = lim ”2; X lim <L ‘“;“‘ — ":

70. (1,2) 5T A2 G0 98 x-Sr% 0 SR y-Sr% 2o 80 76l AFow S wAfme $97?
(a) V3 (b) 2v2 (c) 2v3 (d)3
YA
T (C); | 1
— X

T, r=2, x2=1r2—12=22-12=3 = x=+3 .y -5 3 & a9l oo 9t = 2v3
71, (x+1) 9% &F TF 2

(a) 2 (b) 1 (c) —2 (d) -1

T (C); FO) =x+3; () =0=21-Z=0=x=%1; ") =5

~f'"M)=2>0; f'"(-)=-2<0 ~ceF[{(-1)=-1-1=-2
72. EsinEBcnsﬂdB a7 A T

(a3 (b) 3 (c) 5 (d) %

W:(b):ﬂﬁ,z=sin9=bdz=r:nsﬁ.d9,ﬂ=ﬂ¥t="r,z=sinB=U,B=§§Lﬁ,z=sinE=1

T 61
JZsin®6.cosB.d6 = _fnle.dz = FE]E =%

73, u @ SSfee AR o @i 2 I57 J20T TH! 7 ~ [Ans: a]
uZ sinZ a usin? o u? sin 2a u?sina
(a) z’g (b) = (©) —, (@) —;
74. y=-T@@EAE @ e x = > o1} s O o1 e ?
(a) 4 (b) —8 (c)8 (d) =2

75. T tana—tanf = p,cotPf—cota=q,a— B = 8 T, Ol cot f U [ F7

(8) =+ (b) -~ ©)2+3 (d)1-2




AAIYIR: 1 _ sina  sinp _ sina.cosf-sinf.cosa sin(a=f3) = 1 _ cos a.cos B
) (C), pE=animn B ~ cosm " cos B - cosa.cos B ~ cosa.cos P p sin(a—B)

cosp cosa __ sina.cosPB-cosmsinfl _ sin(a—p3)
sinp  slna sina.sin sina.sinfi

q=cotfi —cota =

1 1 cos(a-pB) 1 1
L=t == = —B);cotb ==+~
S 4+ e cot(a =) ;co = + =

76. 3p,2p I 53R ARF R; Tk ow IS e T T O, Ane fed 271 TR0 TOIS @I FO7
(a) 60° (b) 240° (c) 120° (d) —60°
HAME: (¢); R? = (3p)? + (2p)? + 2.3p. 2p.cos B = 13p? + 12p® cos O
(2R)2 = (6p)? + (2p)? + 2.6p. 2p.cos B = 4{13p? + 12p? cos 8} = 36p? + 4p” + 24p” cos 6

= 52p? + 48p? cos 0 = 40p? + 24p? cos 0 = 24p? cos B = —12p? = cosB = —~ = 6 = 120°
77. y? =4x QR y = x UF WG CFET CFAT 907
(a) 3 (b) 8 (0) 3 (d)

o w

(4,4)

YA (C) ; (0,0)

y2 = 4x

3 4
TIRE CFEE CFawa = [ (2vx — X) dx = [ng-—?‘;-]n= (2x8x2-2) =2af s

78. f(x) =x%+3x+ 1 a3 g(x) = 2x — 3 T, gof(1) 99 IF FE?
(a) 10 (b) 7 (c) 13 (d) 15
IYE: (b); f(1) = (1)?+3.1+1=5; g(5) =25-3=10-3=7; gof(1) = g(f(1)) = g(s) =7
79. A,B 932 C WGH SCE1E WAl YT 4 X 5,5 X 4 @32 4 X 2 & (AT + B)C WG e At 303-
(a) 5x 4 (b) 4 x 2 (c) 5 x 2 (d)2x5
AYA: (C); AT+ B UF @5 x 41 COgNM@A@ 4 X 21 ~ (AT +B).C9a @l 5 x 2
80. y? = 9x IR &~z S_Ze 436 777 P 97 &It 12; P @7 Toiaas vag 397?
(a) 19 (b) 187 (c) 10 (d) 16
AN (b); y2 =9%x ~4a=9=>a=

+ | o

s y2=9x=> (12’ =9x=>x= 16
— _2 — 10t
f&“’lﬁﬁﬁ’?l‘.q—a+x—4+16—184

81. KWAMMISTAx—y+5=0,x+y—1=0kx—y+ 13 = 0 @A N7 TI?

(a) 1 (b) 5 (c) 7 (d) 3
1 -1 5
g (b))t 1 —-1|=0=213-1+4+13+k+5(-1-k)=0=225+k—-5-5k=0=>4k=20=>k=5
k -1 13
82. ABC f@STe LA = 75° QL LB = 45° A c:b =7
(a) V5:V7 (b) V2:/3 (c) V3:v2 (d) V3:+/5
E]
_ ' _ _ .t _ b e sinC _ sin60° 5 3 . _
TTTE: (e); £C = 180° — 45° — 75° = 60° "slnﬂ_sinEl:hmsinB_sin'IrE“_;i_—z_-_E “ b =v3:v2

I | c | T



83. x20,y=0,3y—x<10,x+y<6,x—y < 2 *SFAE z = 2y — X 93 JEIH TH FS?

(a) =5 (b) —4 (c) -3 (d) —2
TW4=: (No correct answer);
7 QF FEIH NN = ?
Z=2y—X
R Z =2y —X AQ
(0,0) 0 /("ﬁi X0
(2,4) 6
(4,2) 0
(2,0) 4
84. OFCIA OIO IS T 0 T, (1 — 0 + 02)2 + (1 + 0 — 0?)? 97 TF FS?
(a) —4 (b) —8 (c) 16 (d) 4

FTHE: (2); (1 — w+ w?)? + (1 + w — w?)? = (—2w)? + (—2w?)?
= 4w? + 40* = 4(0? + 0*) = 4(0?* + ©) = 4(—-1) = —4
85. b AIEICT RIM Z0O SHITH @ {6 I8 TSTHR (IS G AR — S ST | AT T F°7
(a) 44.1m (b) 122.5m (c) 78.4m (d) 93.96m
A (b); 41, t 7T 980 GRTe e~ g2t —1) = —H = ~ x >gt? = 25(2t — 1) = 9¢?
= 9t2 —50t+25=0=t=5,056; t= 0,56 sec AN, ([t > 1
- t=Ssec - WA Gwef, H =-gt? ==~ x 9.8 X (5)*m = 122.5m
86. ENGINEERING *#{bd SIHASTEIE FOSIL At IH?

! 11! 11]
(@) 3!::1;!2! (b 41312! () 312121 (d) None
Y (a); GG ora = 11 5 319 <eg E wieg 3 6, N wieg 3 5, G =g 13, 10z 12T
- ATGTAT G2 = 3!;!:!13!
87. 3x+ky—1=0 GRIB x2 +y? — 8x — 2y + 4 = 0 TGS =M T k 97 T F©?
1 1 1 1
(a) 2,2 (b) =2, () 2,—< (d) —2,-2

HAYA: (¢); Ix + my +n = 0 @ x2 +y? + 2gx + 2fy + ¢ = 0 =P *1$:

(g + mf —n)? = (12 + m?)(g? + f2 — ¢) = {3(—4) + k(-1) — (-1} = (3% + k¥ (4% + 1% — 4)

= (—k—11)? = (9 + k?)(13) = k? + 121 + 22k = 13k? + 117 = 12k? — 22k —4 =0 = k= 2,—;
88. x3 —5x%+ 17x — 13 = 0 AT G0 T 1 A, 5o T 2P 5 67

(a) 2 + 3i,2 — 3i (b) 3 4 2i,3 — 2i (c) 4 + 2i,4 — 2i (d) 2 + 44,2 — 4i

Y (a); %3 —5x2 +17x—13=0=2x3 —x2 —4x2 +4x+13x— 13 =0

2 x2(x—-1)—4x(x—-1D+13x—-1)=0=> x—-1)(x%=4x+13) =0
4 + 6]

x=14+V16-4.13 = 1,—2—= 12,2 £ 3i
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1 a b+c
89. |1 b c+ a| Fdfwa " FS?
l ¢ a+b
@a+b+c (b) 0 (c) 1 (d) abc
1 a 1
1 a b+c 1 a a+b+c
TR (b);[1 b c+al=[1 b a+b+c [C] =C3+Cz]=(a+h+ﬂ) 1 b 1|l=(@+b+c)X0=0
1 ¢ a+b 1 ¢ a+b+c 1 ¢ 1
90. sincot™'tancos~!x =?
(a) x (b) m (c) 5 (d) VI—x
FIIYA: (a); sin cot™! tan cos ™! x = sincot™! tantan™ ”1:[2 = sin cot™! "1:2 = sin sin‘lf = X
91. What is the antonym of ‘frugal’? [Ans: a]
(a) wasteful (b) careful (c) economical (d) prodigal

92. Fillin the blank with appropriate choice: Throughout the animal kingdom, ___ bigger than the elephant.[Ans: b]
(a) whale is only the (b) only the whale is (¢) is the whale only (d) only whale is the

93. Few men are free from faults. Here ‘few’ means : [Ans: d]
(a) some (b) not much (c) hardly any (d) None

94. Fill in the blank with appropriate choice: The first article of the United States Constitution gives Congress

to pass laws. [Ans: b]

(a) the power (b) has the power (c) the power is (d) of the power

95. The more ignorant a man is, the less modest he is, What kind of sentence it is? [Ans: b]
(a) Simple (b) Complex (c) Compound (d) None

96. We were waiting for the bus. Here the underlined part is [Ans: c]
(a) a noun phrase (b) an infinitive phrase  (c) a prepositional phrase (d) a verb phrase

97. Choose the correct answer. What would have happened if ? [Ans: d]
(2) the bridge is broken (b) the bridge would break
(c) the bridge had broken (d) the bridge had been broken

98. Wich one is the correct sentence? [Ans: d]
(2) He gathered a lot of informations., (b) An accident occured there in front of my eyes.
(c) The police has caught the thief, (d) Every man, woman and child was lost.

99. Select the correct linking word to fill in the gap.
Read attentively ___ you should fail in the examination. [Ans: b]
(a) or (b) lest (c) until (d) till

100. The meaning of the idiom ‘through thick and thin’ is : [Ans: d]
(a) anything (b) anytime
(c) anywhere (d) under any circumstance




